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Rank | K % i) KA v MEEHK Rank K 4 i) RA v MEEHK
118 B R X|EHERF 970 3 1|# B  fB|tetetete 480 3
2|8 B  fE|tetetete 900 5 2(f01 B B E|ELRFET =X 360 2
3 FEREBARE 520 2 207 B ® BlA b E 360 2
A3 F& BREKFE 450 1 4 H B A[M bTrE 340 2
5H & K #B7y¥r5=2s57 330 3 5B @ TJ|ELAFETZRE 260 1
6|8 L WElyrarrrzEz-v 300 1 Sl 4 RN BE|BaT=X077 260 1
NE | &= B|srarr=27r7- 270 2 7 & B —|TE AMO0/40 220 2
Btk 4 K BER|BEHT =R 77 260 1 TH B Z|ERATT 2R 220 2
9|1f0 M B E|ELKRFET=XES 200 1 9| B B|KXMTA 180 1
IFEF B m|AbTE 200 2 9l # R M|7vyvr=zs57 180 3
117/ B &F Flesvzarvs=zss7 180 2 9|Fh & it ¥E[T E AMO/40 180 1
11N B R #isuyro7=2557 170 3 IEEH F=—|571>r77=2457 180 1
13(f #B % K|Re-Try Morioka 160 4 13| 2B % K|Re-Try Morioka 160 3
MR & EEREE=SK 150 2 14|48 #2 B] 2|7¥977=2257 140 2
1417 2 2 H|BRAIESEFIR 140 2 15|11 B K|aFRF7=2s57 126 3
16|88 & 0 |zzErxsmstEss 120 1 16|k & EERME=SK 120 1
16|E BE  Z|TOY'S Tennis Lab 120 2 16|88 B & F|rrans=zrrsi— 120 1
16| B K|gFRF7=2077 120 1 16(88 & 1 H|zFERA2ERERE 120 1
19(& & K[BEAKXF 100 1 16(&2 W B B|F—1LF7 T F 120 1
190 I Jm|ELKRFET=XE 100 1 16[M & B B|zFEnxsm=tEsg 120 1
19|k B fMi|FSA 100 1 21/ B R B muv v rF=z057 110 3
22(# b E BEMAE=mK 80 1 21(88 K B Rlpuvirr7=2s57 110 3
22| B = K|BEXTAFET =X 80 1 23 B B KA brvE 100 1
22|F B R B|BFKRFE 80 1 23|N I = BE|fEEdER 100 1
22|88 & R BIRRVA VT 80 1 Bl m T Alusroxs57 80 1
261K Ml RE|EXTARET=RE 60 1 25|76 M +|& K|-w777-n5=2s57 80 1
26|1= £ K M|ELKRET=ZE 60 1 27\ H H|L.L.C 64 3
26(1E 3 B z|7v¥v5=z057 60 1 28|k A 18 & BB[TOY'S Tennis Lab 60 1
26(&F H  fE[TOY'S Tennis Lab 60 1 28|k & B H|EEFBELESK 60 1
301 [ B(REILESEFK 50 2 28| R 0 #&f|L.L.C 60 2
0/ B B K|lzvvvrzzss7 50 2 31{E B WA —TUrF 50 2
2R H|EET=RoTT 42 4 32|18 = # S| TEAMO/40 40 1
BNIERII ER|puvrr5=2s77 40 1 R2FE K B BEREnT=XHBe 40 1
33|& i B —|rkdFEAGF 40 1 32|k 2  A|rransezrnri- 40 1
Bl H F A|WWET=RITT 40 1 320k & fEftetetete 40 1
3B|R A A BlEFER 40 1 32|)I1 # % ZE|Re-Try Morioka 40 1
33l # B flzvvrr=zss7 40 2 2|k BE T ([|zEENAYERERS 40 1
38|1F L M #E|FdkLTC 20 1 2|E B Kk H|MTC 40 1
8| H B A|AM T vE 20 1 28 R M BEFERKF 40 1
38| B ¥|L.L.C 20 1 2|k B & AlE—IZATC 40 1
3B|ITH F—|gFeF7=2/57 20 1
8%z B BEExrLLE 20 1
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Rank | K 4% Fr & A MERAEHK Rank K 4 Fr & RA v bRAEHK
43(F BB F R|BEAILESEFFK 14 2 A1k B & M| AIFTC 20 1
43|FF H R B|BEIESEEIR 14 2 A1 E B W & #B|MTC 20 1
45|17 W H|EwsEbT=xHe 10 1 41|55 b B% E|-msva-nzzzs5v 20 1
45|F ZE 1F #2|kiss shot 10 1 41|12 B & £[—B774—1 20 1
45|15 H Jt fE|feE T C 10 1 41| B g BBEFERAZ 20 1
45| 2 4 S| T E AMO0/40 10 1 4117 i B E|5FERKE 20 1
45|H O k £|5FERKZE 10 1 Al B & Z|ERENT=2BR 20 2
4517 & B E|EFERKE 10 1 A1\ £ | RmEST = 2Es 20 1
45F £ R Bh|7vy7Tr=2057 10 1 418 T K Z|EFHER 20 1
528 A& 1K M|BEEAIESEPK 8 2 41| e ZE|EF s 20 1
b2|E B 1B B|REIESEIR 8 2 511/ F £E|MTC 10 1
h2|5%F M K MlEEaT=Rs77 8 1 511/ R & E|fEETC 10 1
55| F % # ~|TE AMO/40 6 1 5ll4 4 A B Z|7v9v5=2057 10 1
B5|F ¥ IE F|ERET=RI T 6 1 bl {EBEfE& [Philip TC 10 1
S5|2 B 2 Z|dETAY 27 6 1 S51|H A # 2 |EKETF=XiBR 10 1
551/ 1L 3R M EME-—mERR 6 1 51|#k & 52|TOY'S Tennis Lab 10 1
55 WL B tBldtETC 6 1 51|F H X fE|7E&TC 10 1
55(& A B A|BBIESZHPR 6 2 5l H# = F|EFERKAD 6 1
55|75 Bk O Bf|mdn-rr=zs357 6 1 51/ B B K|7vvvr=zs57 6 1
62(% it = % BV LY TC 4 1 bllfE Il B8 tR|7vv75=2s357 6 1
62( & E|IEFERKF 4 1 51|t 4 A 2B EFERKT 6 1
62|57 H = H|EFERKE 4 1 51|H O % £|EFERKAZF 6 1
62|tk 4 Kb 2B BEFERKZE 4 1 5li&f W& | TEAMO/40 6 1
62(11 H LEFERKE 4 1 Sllfh A & F|Philip T 6 1
62|H & iff BEFERKE 4 1 Slith & & HEFERKE 6 1
62| H B B|EFERKE 4 1 bll7k /R E M|Philip 1T 6 1
62|11 & & H|IEFERKRE 4 1 67|77 & & Kk|Re-Try Morioka 4 1
62|K & BHzvrnaqvnr=2s57 4 1
62|53 £ f@ A|l7yvrr=zss7 4 1
2|18 R’ & AV bLHTC 2 1
72| P  F|pranr=zrarz- 2 1
TA|IED H — B|=sn-—>7=2s57 1 1
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Rank| K % B A MERAEHK Rank | K % B BA v b A
1 4 K B ERKZF 940 2 11°F B £ H|1EEKRT 260 1
2|m # F= FIFSA 620 2 1| 3 &£ F|FSA 260 1
3P+ # Blz71v k7722257 520 2 BB O Y |BEAEARESR 40 1
AF B E HBEKRFE 450 1 N M Elsrirrrrzzsss 40 1
Al & B F|BEARERE 450 1
6|F B & E|\LET=x077 120 2
6| K i H|7LALTA 120 1
B|ER B R B|ELTAZF 80 1
8|% # & F|dLTC 80 1
10|14t 8 ¥ F|BEEAEAYEK 60 1
11{E=ZmHZEY LY >TC 40 1
11/ R 8 B|LET=2077 40 1
13(m Il © #E[iEEIESEER 20 1

13(#8 )11 3B 5 &Y bILHY>TC 20 1
15| & B K|IETAY2=7 10 1
1588 # & R[EEAESEER 10 1
15(E Ltk E[EELASEER 10 1




